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FAILTUR 5 5 0 5 0 5
FTAIhERE 35 35 2 2 37 0 37
T EREER 0 0 0 0 0
FILEUFY 0 0 0 0 0
NEDMS 18 18 1 1 19 0 19
ARSIl 0 0 0 0 0
127 0 0 0 0 0
AR 1 1 0 1 0 1
AVRRST 0 0 0 0 0
IHE 1 1 0 1 0 1
A= SUT 19 19 0 19 0 19
Vi 0 0 0 0 0
hr45 29 29 0 29 0 29
Fa—n 0 1 1 1 0 1
g —bk 0 0 0 0 0
aavE7? 0 0 0 0 0
SUAR—IL 1 1 0 1 0 1
AR 0 0 0 0 0
AT —TF 0 0 0 0 0
ARLY 1 1 0 1 0 1
4 1 1 0 1 0 1
AERE 2 2 0 2 0 2
a8z 3 3 0 3 0 3
hEARKNE 4 4 0 4 0 4
F1) 0 0 0 0 0
TUR—Y 0 0 0 0 0
M)=4—K-k/\0 0 0 0 0 0
kL3 1 1 0 1 0 1
(e 3 3 0 3 0 3
Za—U—5UK 5 0 5 0 5
JIL9T— 0 0 0 0 0
NUHY— 0 0 0 0 0
NG SToa 0 0 0 0 0
ISLAFF 0 0 0 0 0
T4o— 0 0 0 0 0
T4VEY 11 11 0 11 0 11
TA4TUR 0 0 0 0 0
ISR 1 1 0 1 0 1
NhF L 1 1 0 1 0 1
K=K 0 0 0 0 0
RUET 1 1 0 1 0 1
] 0 0 0 0 0
TILAE 3 3 0 3 0 3
IL—7 1 1 0 1 0 1
A% 0 0 0 0 0
EYI% 8 0 0 0 0 0
YrT7=7 0 0 0 0 0
—==7 0 0 0 0 0
av7 0 0 0 0 0
N 3 3 0 3 0 3
& & 150 0 150 4 0 4 154 0 154
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